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[CHEMISTRY]

1g -22
100amu = (100)] ————— |=1.66x10
( )(e.ozleo“j 0
7.0x10%
6.022x10%
Mass of 8.0 x 102 mol =0.8 x 46 g =36.8¢g

85.6 14.4
Ratio of atoms C:H: :?:T: 1 7.13:14.4: :1:2

Mass of 7.0 x 10?2 molecules = x46h =5.35¢g

Simplestformula: CH,

490x10°°
—m
98

490 mg H,S0, = 490 x 10 g H,SO, = ol
_ 490x107° x6.02x10%°
98

Molecules left over = (3.01 x 10?!) — (10%°) = 3.01 x 102* - 0.1 x 10*
=(3.01-0.1) x 1022 =2.91x 10%
Let the mass of O, = xand that of N, = 4x

molecules =3.01 x 10?* molecules

No. of molecul fO_X
o.of molecules of O, = =5

4x
No. of molecules of N, = — =

X
28 7
X X
jion —:.— or 7:32
Ration 327

Ammonium dichromate is (NH,),Cr,O..

1 mole consists of 2 atoms of N, 8 atoms of H, 2 atoms of Cr, and 7 atoms of O.
So, total no. ofatoms =(2+8 +2 + 7) x 6.023 x 10%

=114.437 x 10%

0.72
Moles of water produced = 18 0.04

3.08
Moles of CO, produced = e 0.07

Equation for combustion of an unknown hydrocarbon, C H is

CH, +(x +XJO2 — xCO, +XH20
4 2
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22 (a) Molecular weight =2xV.D =2x11.2=224
+ 22.4gm of gas occupies 22.4L at S.T.P.

. 11.2gm of gas occupies

4 11.2-112L .
4

23. (b) Valency of the element = 2xV.D = 2x59.25
E+355 4+355

_11850 _,
39.5

24.  (c) [ Molecular weight of CuSO,.5H,0
=63.5+32+64+90 =249.5]

6 x10% molecules has weight = 249.5gm

249.5x1x10%
6x10%

1x10%2 molecules has weight =
=41.58x10" =4.158

25. (b) One ion carries 3 x1.6 x10™ coulomb

Then 1 gm ion N* (1 mole) carries
=3x1.6x107" x6.02x10%
=2.89x10° coulomb

26. (b) Mg+ 2HCIl— MgCl, + H,
24g Mg evolves 22.4L H, at STP

12g Mg evolves H, at STP % x12

=11.2L at STP.

27. (c) 1mole of any gas at STP occupies 22.4L.
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